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 ـــــــــــــ التمرينـــــــــــــ 

{
𝑦′ − 2𝑦 = 0      … (1)

𝑦′ − 2𝑦 = 𝑥𝑒𝑥  … (2)
 

1(1)

4 𝑎 𝑏 𝑢

 ℝ

𝑢(𝑥) = (𝑎𝑥 + 𝑏)𝑒𝑥

a  𝑎 𝑏 𝑢(2) 

b  𝑣 (1)

 𝑢 + 𝑣(2) 

c 

(2) 

d  𝑓 (2)

𝑥 = 0 

 ـــــــــــــ الحلــ ــــــــــــ

{
𝑦′ − 2𝑦 = 0      … (1)

𝑦′ − 2𝑦 = 𝑥𝑒𝑥  … (2)
 

1(1)

(1)

𝑦′ = 2𝑦

𝑦′ = 𝑎𝑦 𝑥 ⟼ 𝑘𝑒𝑎𝑥 𝑘 

 ومنه:

(1)

𝑥 ⟼ 𝑘𝑒2𝑥 

 𝑘 

2 𝑎 𝑏 𝑢

 ℝ

𝑢(𝑥) = (𝑎𝑥 + 𝑏)𝑒𝑥

a 𝑎 𝑏 𝑢(2) 

 𝑢 (2)

𝑢′(𝑥) − 2𝑢(𝑥) = 𝑥𝑒𝑥 

𝑢′(𝑥)𝑢(𝑥)

𝑢ℝ

𝑢′(𝑥) = (𝑎𝑥 + 𝑏)′𝑒𝑥 + (𝑎𝑥 + 𝑏)(𝑒𝑥)′

𝑢′(𝑥) = 𝑎𝑒𝑥 + (𝑎𝑥 + 𝑏)𝑒𝑥 
 ومنه:

𝑢′(𝑥) = (𝑎𝑥 + 𝑎 + 𝑏)𝑒𝑥 
 

 

  

 لدينا:

𝑢′(𝑥) − 2𝑢(𝑥) = 𝑥𝑒𝑥

(𝑎𝑥 + 𝑎 + 𝑏)𝑒𝑥 − 2(𝑎𝑥 + 𝑏)𝑒𝑥 = 𝑥𝑒𝑥

(𝑎𝑥 + 𝑎 + 𝑏 − 2𝑎𝑥 − 2𝑏)𝑒𝑥 = 𝑥𝑒𝑥 
(−𝑎𝑥 + 𝑎 − 𝑏)𝑒𝑥 = 𝑥𝑒𝑥 

 بالمطابقة:

{
−𝑎 = 1     
𝑎 − 𝑏 = 0

 

 ومنه:

{
𝑎 = −1
𝑏 = −1

 

 ونكتب:

𝑢(𝑥) = −(𝑥 + 1)𝑒𝑥

b 𝑣 (1)

 𝑢 + 𝑣(2)

 أولا:

 𝑣 (1)

𝑣′ − 2𝑣 = 0

 𝑢 + 𝑣 (2)

(𝑢 + 𝑣)′ − 2(𝑢 + 𝑣) = 𝑥𝑒𝑥

 لدينا:

𝑣 (1)

𝑣′ − 2𝑣 = 0

𝑢 (2)4a

𝑢′ − 2𝑢 = 𝑥𝑒𝑥

(𝑢′ − 2𝑢) + (𝑣′ − 2𝑣) = (0 + 𝑥𝑒𝑥) 
(𝑢′ + 𝑣′) − 2𝑢 − 2𝑣 = 𝑥𝑒𝑥 
(𝑢′ + 𝑣′) − 2(𝑢 + 𝑣) = 𝑥𝑒𝑥 
(𝑢 + 𝑣)′ − 2(𝑢 + 𝑣) = 𝑥𝑒𝑥 

 ومنه:

 𝑢 + 𝑣(2) 

 :ثانيا

 𝑢 + 𝑣 (2)

(𝑢 + 𝑣)′ − 2(𝑢 + 𝑣) = 𝑥𝑒𝑥

 𝑣 (1)

𝑣′ − 2𝑣 = 0

 لدينا:

𝑢 + 𝑣 (2)

(𝑢 + 𝑣)′ − 2(𝑢 + 𝑣) = 𝑥𝑒𝑥 
𝑢′ + 𝑣′ − 2𝑢 − 2𝑣 = 𝑥𝑒𝑥 
(𝑢′ − 2𝑢) + (𝑣′ − 2𝑣) = 𝑥𝑒𝑥

𝑢 (2)4a

𝑢′ − 2𝑢 = 𝑥𝑒𝑥 
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 بالتعويض:

𝑥𝑒𝑥 + (𝑣′ − 2𝑣) = 𝑥𝑒𝑥 
𝑣′ − 2𝑣 = 0 

 ومنه:

 𝑣(1) 

 نتيجة:

 𝑣 (1)

𝑢 + 𝑣(2)

c(2) 

𝑣(1)

𝑣′ − 2𝑣 = 0

(1)

𝑥 ⟼ 𝑘𝑒2𝑥 

 ومنه:

𝑣(𝑥) = 𝑘𝑒2𝑥 

𝑢(2)

𝑢′ − 2𝑢 = 𝑥𝑒𝑥

 حيث:

𝑢(𝑥) = −(𝑥 + 1)𝑒𝑥

𝑢 + 𝑣(2)

(𝑢 + 𝑣)′ − 2(𝑢 + 𝑣) = 𝑥𝑒𝑥 

𝑓 = 𝑢 + 𝑣

𝑓′ − 2𝑓 = 𝑥𝑒𝑥 

(2)

𝑓(𝑥) = 𝑣(𝑥) + 𝑢(𝑥) 

 ومنه:

𝑓(𝑥) = 𝑘𝑒2𝑥 − (𝑥 + 1)𝑒𝑥 

d 𝑓 (2)

𝑥 = 0 

𝑓(0) = 0 
𝑘𝑒0 − (0 + 1)𝑒0 = 0 
𝑘 − 1 = 0 

 ومنه:

 

𝑘 = 1 

 ونكتب:

𝑓(𝑥) = 𝑒2𝑥 − (𝑥 + 1)𝑒𝑥 
 

 ويمكن أن نكتب أيضا:

𝑓(𝑥) = (𝑒𝑥 − 𝑥 − 1)𝑒𝑥 

 ــــــــــ
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